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B.Com. DEGREE EXAMINATION, APRIL 2020 

Fifth Semester  

Commerce 

COSTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State the definition of costing. 

 AhUP Âø»°øÚ Áøμ¯øÓ ö\´P. 

2. What do you know about cost sheet? 

 AhUP¨ £mi¯À £ØÔ }Âº AÔÁx ¯õx? 

3. What do you know about EOQ? 

 EOQ £ØÔ }Âº AÔÁx ¯õx? 

4. What do you know about perpetual inventory method? 

 |ß \μUS •øÓ £ØÔ }Âº AÔÁx ¯õx? 

5. What is meant by incentive? 

 FUPzöuõøP GßÓõÀ GßÚ? 

6. What is meant by job evaluation? 

 £o ©v¨¥k GßÓõÀ GßÚ? 
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7. What do you know about overheads? 

 ÷©Øö\»ÄPÒ £ØÔ }Âº AÔÁx ¯õx? 

8. What is meant by absorption? 

 Dº¨¦ GßÓõÀ GßÚ? 

9. What is meant by job costing? 

 £o AhUPÂø»°¯À GßÓõÀ GßÚ? 

10. How do you differentiate normal and abnormal loss? 

 \õuõμn ©ØÖ® A\õuõμn  CÇ¨¤øÚ }Âº GÆÁõÖ 

÷ÁÖ£kzxÃº?  

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) The following data related to the manufacture of a                      
standard product during the month of April 2004.                      
Raw material consumed Rs.20,000.Direct wages                      
Rs, 18,000; Total machine hour 3,000; Machine per                      
hour rate Rs. 2; Office on cost 10% of work cost;                     
Selling   on cost Rs.2.50    per unit;   Unit                     
produced =  5,000; Units sold 4,600 @ Rs.30 each.                     
You are required to prepare a 

  (i) Cost sheet in respect of the above showing 
costing per unit and 

  (ii) Profit for the period. 

  2004 H¨μÀ ©õuzvÀ J¸ uμ¨£kzu¨£mh ö£õ¸Ò 

EØ£zvUPõÚ Â£μ[PÒ R÷Ç uμ¨£mkÒÍx. Pa\õ 

ö£õ¸Ò £¯ß£kzv¯x ¹.20,000, ÷|μi T¼ 

¹.18,000, C¯¢vμ ÷|μ® £¯ß£kzv¯x :  3,000 

©oPÒ, C¯¢vμ® £¯ß£kzu J¸ ©oUPõÚ  

AhUP® : ¹.2, öuõÈØ\õø» AhUPzvÀ A¾Á»Pa 

ö\»Ä : 10%, ÂØ£øÚa ö\»ÄPÒ J¸ ö£õ¸ÐUS 
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¹.2.50, EØ£zv ö\´u ö£õ¸mPÒ 5,000, ö©õzu 

ö£õ¸mPÒ ÂØÓx. ¹.4,600 J¸ ö£õ¸Îß Âø» ¹.30  

÷©ØTÔ¯øÁPÎ¼¸¢x J¸ ö£õ¸Îß 

  (i) AhUP Âø» ©ØÖ® AhUPÂø» uõÒ ©ØÖ® 

  (ii) ö©õzu C»õ£® BQ¯øÁPøÍ öÁÎ¨£kzx® 

AhUPÂø»¨ £mi¯ø»z u¯õ›UPÄ®. 

Or 

 (b) Clarify the analysis and classification of costs. 

  AhUPÂø»°ß ÁøP¨£õkPÒ ©ØÖ® £S¨£õ´Ä 

ö\´uø» öuÎÄ£kzxP. 

12. (a) Calculate the Economic Order Quantity: 

  (i)    Consumption during the year= 600 units 
  (ii)   Ordering cost Rs. 12 per order. 
  (iii)  Earning cost 20% 
  (iv)   Price per unit Rs. 20.  
  ]UPÚ Bøn AÍÄ PnUQhÄ®. 

  (i)    Bsk ~PºÄ–600 A»SPÒ 
  (ii)   \μUS ÁøP°À AÝ¨£õøÚ ¹.12 J¸ BønUS 
  (iii)  »õ£® ö£ÖÁuØUPõÚ ö\»Ä 20% 
  (iv)   J¸ A»Qß AhUP® ¹.20 

Or 

 (b) Indicate the steps taken to control over wastage and 
spoilage. 

  PÈÄ¨ö£õ¸Ò ©ØÖ® öPmk¨÷£õÁvøÚ Pmk¨£kzu 

GkUP¨£mk® |hÁiUøPPøÍ _miUPõmkP. 

13. (a) From the particulars given below prepare the 
labour cost per man day of  8 hours. 

  (i) Basic Salary – Rs. 100 per day 
  (ii) Dearness Allowance – Rs. 250 per every point 

over 100 points cost of living index of working 
class current index is 700 points. 
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  (iii) Leave Salary– 10% of (i) and (ii) 
  (iv) Employer's contribution to provident fund – 

8% of (i), (ii) and (iii). 
  (v) Employer's contribution to state insurance – 

2.5% of (i), (ii) and (iii). 
  (vi) Expenditure to amenities to labour – 200  

per head per month 
  (vii) No of working days in a month – Rs. 25 day of 

8 hours. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x |õÒ 

JßÔØPõÚ 8 ©o ÷|μzvØS ©Ûu EøÇ¨¦ 

AhUPÂø»ø¯U PnUQkP. 

  (i) Ai¨£øh \®£Í® –¹.100 |õÒ JßÖUS 

  (ii) £g\¨£i– ÁõÌUøP ö\»Ä SÔ±k 100 

¦ÒÎPÐUS ÷©À JÆöÁõ¸ ¦ÒÎPÐUS® 

¹.250 |h¨¦ SÔ±k 700 ¦ÒÎPÒ 

  (iii) Âk¨¦ \®£Í®–10% (i) ©ØÖ® (ii) 

  (iv) öuõÈ»õÍº ÷\©|» {v £[PÎ¨¦ – 8% of (i), (ii) 
©ØÖ® (iii) À. 

  (v) öuõÈ»õÍº ©õ{»U Põ¨¥k £[PÎ¨¦ – 2.5%  
(i), (ii) ©ØÖ® (iii) À. 

  (vi) öuõÈ»õÍº |» Á\vUPõÚ ö\»ÄPÒ – ¹. 200  
|£º JßÖUS JÆöÁõ¸ ©õu•® 

  (vii) ©õuzvß ÷Áø» |õmPÎß GsoUøP – 25 

|õmPÒ 8 ©o ÷|μzvØS 

Or 

 (b) Elucidate the procedure for measuring labour 
turnover. 

  öuõÈ»õÍº ¦μÒÂøÚ AÍÂkÁuß |øh•øÓPøÍ 

öuÎÄ£kzxP. 
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14. (a) Apportion the overheads among the departments P, 

Q, R and S. 
 Rs. 

Work’s Manager's Salary 4,000 

Contribution to P.F. 9,000 

Plant maintenance 4,000 

Canteen expenses 12,000 

Power 21,000 

Depreciation 20,000 

Rent 6,000 

  Additional Information  
Particulars P Q R S 

No. of employees 16 8 4 4 

Area occupied (sq.ft.) 2,000 3,000 500 500 

Value of Plant (Rs) 75,000 1,00,000 25,000 - 

Wages (Rs) 40,000 20,000 10,000 5,000 

Horse Power 3 3 1 - 

  P, Q, R ©ØÖ® S xøÓPÐUS ÷©Øö\»ÄPøÍ 

£Qº¢uÎUPÄ®.  

 ¹. 

£o ÷©»õÍμx \®£Í® 4,000 

P.F.US £[PÎ¨¦ 9,000 

C¯¢vμ £μõ©›¨¦ 4,000 

÷Psjß ö\»ÄPÒ 12,000 

G› \Uv 21,000 

÷u´©õÚ® 20,000 

ÁõhøP 6,000 
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 TkuÀ uPÁÀPÒ : 

Â£μ[PÒ P Q R S 

£o¯õÍº GsoUøP 16 8 4 4 

£Sv £μ¨£ÍÄ –\xμ Ai 2,000 3,000 500 500 

C¯¢vμzvß ©v¨¦ ¹. 75,000 1,00,000 25,000 - 

T¼ ¹. 40,000 20,000 10,000 5,000 

Svøμ \Uv 3 3 1 - 

Or 
 (b) List out the types of overheads and state its 

significance. 
  ÷©Øö\»Âß ÁøPPøÍ £mi¯¼mk Auß 

•UQ¯zxÁzøu u¸P. 

15. (a) State the features and advantages of job costing. 
  £oa ö\»ÄPÎß A®\[PÒ ©ØÖ® |ßø©PøÍ u¸P. 

Or 

 (b) The product of a manufacturing company passes 
through two process X and Y and then to finished 
stock. It is ascertained that in each process 5% of 
the total weight put in is lost and 10% is scrap 
which realized Rs.75 per ton and  Rs.210 per ton 
respectively. 

  The process figures are as follows: 
 Process X Process Y 

Materials consumed (tons) 2,000 130 

Cost per ton(Rs.) 150 220 

Wages ( Rs ) 36,000 24,000 

Manufacturing expenses ( Rs.) 10,500 9,920 

Output (tons) 1,670 1,600 

  Prepare process Cost Accounts showing cost per ton 
of each process. There was no stock on work-in-
progress in any process. 
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 J¸ EØ£zv {ÖÁÚzvß ö£õ¸Ò •iÄ ö£ØÓ \μUQØS 

AÝ¨¦ÁuØS •ß £i •øÓ X ©ØÖ® £i•øÓ Y 

BQ¯ÁØøÓ Ph¢x ö\À¾®. JÆöÁõ¸ £i•øÓ°¾® 

ö©õzu Gøh°¾® 5% \õuõμn |mh•® ©ØÖ® 10% ªg]¯ 

ö£õ¸Îß ÂØ£øÚ Âø» BQ¯ÁØÔÀ •øÓ÷¯ hß 

JßÔØS ¹.75 ©ØÖ® ¹.210 BS®. 

 £i•øÓ ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

 £i•øÓ

 X 
£i•øÓ 

Y 

£¯ß£kzu¨£mh ‰»¨ö£õ¸ÒPÒ 

(hßPÒ) 

2,000 130 

J¸ hß AhUP®(¹.) 150 220 

T¼ (¹.) 36,000 24,000 

EØ£zva ö\»ÄPÒ (¹.) 10,500 9,920 

EØ£zv (hßPÒ) 1,670 1,600 

 £i•øÓ AhUPÂø» PnUSPøÍ u¯õº ö\´x JÆöÁõ¸ 

£i•øÓ°¾® hß JßÔß AhUPzøu PnUQkP. G¢u 

£i•øÓ°¾® \μUQ¸¨¦ (A) •iÄ ö£Óõ EØ£zv 

Qøh¯õx. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Prepare profit from costing and cost sheet from the 
following information 

 Rs.  Rs. 

Materials 
consumed 

20,000 Office overhead 
charges 

16,000 

Wages 18,000 Selling overhead 4,000 

Works overhead 
charges 

15,000 Sales 1,00,000 
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 RÌUPsh ÂÁμ[PÎ¼¸¢x AhUPÂø» ©ØÖ® C»õ£® 

PnUQkÁuØPõP AhUPÂø»uõÒ JßøÓ  u¯õº ö\´P. 

 ¹.  ¹. 

ö£õ¸mPÒ 

£¯ß£kzv¯x 

20,000 A¾Á»P ÷©Øö\»Ä 16,000 

T¼ 18,000 ÂØ£øÚa ö\»ÄPÒ 4,000 

öuõÈØ\õø» 

÷©Øö\»ÄPÒ 

15,000 ÂØ£øÚ 1,00,000 

17. Compute the various stock levels form the following data: 

 Maximum consumption in a month – 300 units 

 Minimum usage in a month – 200 unit 

 Average usage in a month –  225 units 

 Time –lag for procurement of materials: 

 Maximum 6 moths 

 Minimum 2 months 

 Reorder quantity 750 units 

 RÌPõq® Â£μ[PÎ¼¸¢x £À÷ÁÖ \μUS C¸¨¦ 

{ø»PøÍ PnUQkP. 

 J¸ ©õuzvÀ AvP£m\ E£÷¯õP® – 300 A»SPÒ 

 J¸ ©õuzvÀ SøÓ¢u£m\ E£÷¯õP® – 200 A»SPÒ 

 J¸ ©õuzvÀ \μõ\› E£÷¯õP®  -– 225 A»SPÒ 

 ‰»¨ö£õ¸Ò öPõÒ•u¾UPõÚ Põ» CøhöÁÎ 

 AvPÍÄ 6 ©õu[PÒ 

 SøÓ¢ux 2 ©õu[PÒ 

 ©ÖBøn AÍÄ 750 A»SPÒ  
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18. The time card of a worker shows the following 

information: 
 Normal working hours per week  44 
 Actual Hours worker    52 
 The worker was idle for 2 hour, due to machine break–

down. 
 Rate per Hour   –  Rs. 20 per Hour. 
 Overtime is paid double the normal rates. 
 Calculate the earnings for the week and pass necessary 

journal entries for the wage payment. 
öuõÈ»õÍ›ß ÷Áø» Amøh Â£μ® Á¸©õÖ 

Áõμzvß \õuõμn ÷Áø» ©oPÒ – 44 

Esø©¯õP ÷Áø» ö\´u ©oPÒ – 52 

Cμsk ©o ÷|μ® ÷Áø»¯õmPÒ ÷Áø» ö\´¯ÂÀø», 

C¯¢vμ® £Êx Põμn®  

1 ©o ÷|μ \®£Í®–¹.20 

ªøP ÷|μzvØS \õuõμn \®£Ízvß  C¸©h[S 

Áõμ \®£Í® PnUQmk T¼ ö\¾zxÁuØS ÷uøÁ¯õÚ 

SÔ¨÷£k £vÄPøÍ u¸P. 

19. A company has three production department A,B and C 
and two service departments X and Y. The expenses 
incurred by them during a particular month are: 

 A – Rs. 80,000 
 B – Rs. 70,000 
 C – Rs. 50,000 
 X – Rs. 23,400 
 Y – Rs. 30,000 
 The expenses of the service departments are apportioned 

to the production department on the following basis: 
 A B C X Y 

Expenses of X 20% 40% 30% - 10% 

Expenses of Y 40% 20% 20% 20% – 
 

 Give the secondary distribution summary. 
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 J¸ P®ö£Û°À A,B,C BQ¯ ‰ßÖ EØ£zv xøÓPÐ® X,Y 

BQ¯ C¸ £ozxøÓPÐ®   EÒÍÚ. J¸ SÔ¨¤mh 

©õuzvÀ CzxøÓ°ß ö\»ÄPÍõÚ  

 A – ¹. 80,000 

 B – ¹. 70,000 

 C – ¹. 50,000 

 X – ¹. 23,400 

 Y – ¹. 30,000 

 RÌUPsh Ai¨£øh°À £ozxøÓ°ß ö\»ÄPÒ EØ£zvz 

xøÓPÐUS £QºuÀ ÷Ásk®. 

 A B C X Y 

X ö\»ÄPÒ 20% 40% 30% - 10% 

Y ö\»ÄPÒ 40% 20% 20% 20% – 

 Cμshõ® {ø» £QºÄ¨ £mi¯ø»z u¯õ›UP. 

20. A product passes through three processes I, II and III.                   
From the following information, prepare the process              
account. Assuming that there were no opening or closing                   
stocks. Also give the abnormal loss and abnormal gain                   
account. 

 Process I Process II Process III 

Materials Rs.1,000 Rs.1,500 Rs.500 

Labour 5,000 8,000 6,500 

Overheads 1,050 1,188 2,000 

Actual output (units) 9,500 9,100 8,100 

Normal loss 3% 5% 8% 

 The normal loss of process I was sold at 25 paise per unit 
that of process II at 50 paise per unit, and that of process 
III at Rs.1 per unit. 10,000 units were introduced to the 
process I in the beginning at a cost of Rs.1 per unit. 
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 J¸ ö£õ¸Ò I, II  ©ØÖ® III GÚ ‰ßÖ £i•øÓPÎÀ 

u¯õμõQÓx. ¤ßÁ¸® ö\´vPÎ¼¸¢x £i•øÓU 

PnUSPøÍ²® A\õuõμn C»õ£® ©ØÖ® |mhU 

PnUSPøÍ²® u¯õ›UP. 

 £i•øÓ 
I 

£i•øÓ 
II 

£i•øÓ 
III 

ö£õ¸ÒPÒ  Rs.1,000 Rs.1,500 Rs.500 

T¼ 5,000 8,000 6,500 

÷©Øö\»ÄPÒ 1,050 1,188 2,000 

EØ£zv ö\´¯¨£mh 

A»SPÒ 

9,500 9,100 8,100 

CÇ¨¦PÒ (\õuõμn 

|mh®) 

3% 5% 8% 

 CÇ¨¦PÒ (J¸ A»S) £i•øÓ I 25 ø£\õ, £i•øÓ II 

50ø£\õ, £i•øÓ III ¹.1 Ãu® ÂØP¨£kQßÓÚ. 

 £i•øÓ I –À 10,000 A»SPÒ AhUPÂø» A»S JßÖUS 

¹.1 Ãu® AÎUP¨£kQßÓx. Bμ®£ AÀ»x CÖv •iÄ¨ 

ö£õ¸ÒPÒ CÀø»ö¯ÚU öPõÒP.  
———————— 
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